mm%jim =18/E18 755 U RS
e | 3 Way /5 Way Pilot Type Solenoid Valve

AT T W TN AR ]
31&(4’39-“&;1%) 31ﬁ(¢';&;1t5‘§) 31ﬁ(:‘;&5DDE) TSM300/TSM3000 Serles

PNEUMATICS

Common Specification (2 [&] #14& )

Function(Zh&E) Z Egg 2 igz:ﬂg:ég};;g 5 Port 3 Position(=fL 1)
Fluid(GFEiA) Compressed Air, Inert gas(EZE=S, 1EMESE)
Eff.Sectional Area (B EER) 2.3mm? 1.8mm2
Operating Pressure({£F 1) 0.15~0.7Mpa 0.2~0.7Mpa
SR A Max.Cycles(& A T{ESRER) 10c/s 8cls
Response Time(5bar)(& A ig]) 20ms or Less 30ms or Less
Lubrication(i#ig) Not Required(FEE;Hig)

TSM3120-51.2-m5 '

Uy, 1.5-8 byrems

Manual Override(FEF##1%) | Push Button (Standard)(#z4Az%) (4% ), Lever Lock (§iE=)
Power Consumption (87iE#%) | Holding-DC(#4) : 0.65W(24V:27.0mA/12V:54.0mA)

EEEs

Allowable Voltage( e EZ 35 ) Rated Voltage (8 H.[£)+10%
Ambient & Fluid Temp.(FERA EiRE) 5°C~60°C
T [Normally Closed (% i) Coil Insulation(4&%x354%) Class F or Equivalent(FZR sk #EE Rk 51)
2 | Normally Open(# 7¥) *Please Use Tubine Oil 1st-grade 1ISO VG32#,If Required.
3 | Double(% &) EBENBMIEEREFR1SHISOVG32

e How To Order (B! Sk R /53%)
e

3 Way Point N

wE - TSM3 1 3 - 5 LZ -M5-S

5 Way Point

#%£ TSM3 1 20 D - 5 LZ - M5 -S
. u , - —

Solenoid Body Type Voltage Connection Port Size Manual Override

H fii % fRZe% B E EFRAR BEOR FanRiE

1 [Single(# £ &) Nil(Z)[ Body Ported (E# % %) 5[DC24V  LZ] L Type Terminal(LELERER) M5 [ M5x0.8  Nil(z)] Push Button (Standard)(&§izt) (5 /&)
2 [Double(WZ& B) *D [SubPlateType (RHEZER) 6|DC12V_ MZ| M Type Terminal(90°)(MEUFER)  C4 | @438k S [ Lever Lock (§fiE=)

3 |Double Closed Center(H R HR) HEIR R B L EE ORER

4 |Double Exhaust Center(W s &5 3%) *TSM300& 5| 5TSM3000% 7l BB #4 1/ R <+ 5 & 2 4R M
5 [Double Press Center(Rp R MER) & A8

Dimensions(mm)(%h 2 R ~F B(Z X))

140 _11.0 2-M5x0.8
TSM3120-0LZ [ Gt - TSM3120D-00MZ
2 : - I
i @b =
88| 214 | . RED ﬂ
~(2.3 Hole Manual Button
Manual Button .
| i — ~ _~
T o + b=
= 9 ™ N F—~ d el
I I =0 g’ “ y 8 i i =y 7 o
" hd ‘% | 5 | b )
2 ﬂJiS_J 2-M3x0.5 DP#.0 (Back) L%
60.5 2 | 4
- 720
=] ol 61.5
o
70.0
| A ‘“’ S| — -
*Té’p i t?\‘%}_’%\gb ‘EB
100 19.0 3-M5x08
(1,3,5—-Port)

$TETE 249




= E/AESE S B
3 Way /5 Way Pilot Type Solenoid Valve
TSM300/TSM3000 Series

(%)
=
'_
<
=
>
wl
=
o

Dimensions(mm)(%h 2 R ~F B(Z X))

TSM3220-0LZ TSM3220D-C0MZ

(2,4-Port)

]

= 4 5
214 2-92.3 Hole

ﬁ | ﬂ ﬁ ﬂ

Manual Button Manual Button J_r
o Y
(=]
| ‘ . -
3 f b — =__d [\ J b = = _9 j
i 0= T =T ! : OSTT =il )
ol | %] | g
\&‘ 2-M3x0.5 DFU.0 (Back) @%@
82,0 r 2T T j
99.0
82,0
g 99.0

(s o

3-M5x0.8
(1,3,5—Port)

TSM3320-LZ TSM3320D-C01MZ
11.0_, 2-M5x0.8
(2.4-Por)) Black
=31 JRTEOR [t [e==—
214 ‘ 2-2.3 Hole D ﬂ
Manual Button Manual Button J_r
—= N == o
o | = JI_WEE g =l | =]
o i O= =nil o b 0= = f 0|
Tl Z S
9%.358‘5 2-M3x0.5 DP4.0 (Back) f@@j
1115 t
88.5
05.0

10.0

=HK GE’EFEF%%F ==

T 19.0 3-M5x0.8
(1,3.5-Por)

2.50 NTECTTE




= E/AEES I
3 Way /5 Way Pilot Type Solenoid Valve
TSM300/TSM3000 Series

PNEUMATICS

Dimensions(mm)(9M 2 R <+

TSM3420-00LZ

(X))

11.0_ 2-M5x0.8
(2.4-Port) Black
.
== JEOIGT Hef -
— P <
T
D
214 ‘ 2—-@2.3 Hole

REl
—
o
1)

TSM3420D-C0MZ

Manual Button Manual Button
s P AT = A~
(—— P
4 | =4 ] - - L
B Ll O - =nill i 4 0= — =1 i o
@ ‘ ﬁ % —d | ; 3]
‘Qé.‘ 2-M305DPA0|  [5im) @@
88.5 f 2 71 j
111.5 t
88.5
g - 105.0
— AL Ld & 2. N —
=THoH=F2-9-e PIIH==
19.0 3-M5x0.8
(1,3,5-Port)
TSM3520-0LZ TSM3520D-0MZ
11.0_, 2-M5x0.8
(2,4—Port) Black
== R EOSE - =
<21+4—‘ 2-¢23 Hole RED ; ﬂ
Manual Button Manual Button J_r
R — = N -
f +
e J - - h = ]7 - [4[{
N ot D»,: - :rD op L D»,: — :"D it g
— S4RS! 5 N — v
LQLJ \2—M3x0,5 DP4.0 ) @ @
88.5 "é 2 4 ﬁ
115 f
88.5
3 1050

il
%20
g
Lo

SR ==

3-M5x0.8
(1.35-Port)

TSM3000D Serials Sub-Plat Type

/2—M2x0.4

(TSM3000D% 51 F Jik [EE) 4]
fan
(=] o] O \u 0|
N g = (e
N2
5-G1/8 / —@3.4 10.4
(1,2,3.4,5-Por) ) ' 220

#TE[ETE 2.51




— A = K3 AT
ZE/ABEES I BEE
(%]
) . c
= 3 Way /5 Way Pilot Type Solenoid Valve
=
o] =
= TSM300/TSM3000 Series
Manifold GL it #R) How To Order (B 5 3k /R 75 7%)
Body Ported (H#E & %)
5 TSS5M 3 -20- 04 1
3 6-G1/8 l_l
12.5 - Series No. of Station
A - (1357Fer ) frEHE
1] @ 1 5 [TSM3000 02 |2 Valves
= 4 Td 2 T 03 |3 Valves
2l s [PLOYO N s 14 | 14 Valves
8l 5| + % = o o 9 _—
sl e E}@ ) N < ~ K & S
28 P Fan)
o = AN
e 4-34.2 Hole 80
A 205 _
H::hﬁ 55 Blanking Plate
40 B=(10.5n+9.5) 40 Q
A=(10.50+17.5) o=
Manifold Gasket
A,B : Dimensions(R <) n=Station (i )
ftom ——tation| 5 3 4 5 6 7 8 9 10 11 12 13 14
B 30.5 41.0 51.0 62.0 72.5 83.0 93.5 104.0 | 1145 | 125.0 | 135.5 | 146.0 | 156.5
A 38.5 49.0 59.5 70.0 80.5 91.0 101.5 | 112.0 | 122.5 | 133.0 | 143.5 | 154.0 | 164.5
Manifold G #R) How To Order (B! & &R /5 3%)
Sub-Plate Type (£ i) & 5 )
ShE | 140 TSS5M 3 -43- 04 1
Ef:l - —
%% 16.8 I_| I_|
‘ 4-542 Hol S Series T\LQ of Station
_Hale —04.2 Hole 5 751 frEHE
LI . m A 3 [TSM3000D 02 [ 2 Valves
3 Ll 2 N o 033 Valves
15 & G{ N e f A J 14 | 14 Valves
¢ 8 @ 9 © N S
= © @ |1 1& b I
218 || ePePeP - o W
iiEsEsiamlE =1
T
61G1/8
et (abro) | 3L 9
+llg 285
40 B=(10.5n+9.5) 40 60.5
A=(105n+17.5)
2n-M5x0.8
(2,4-Port) Blanking Plate
7
o
QZQZQZWZ o £
| &l SENN
0,9, 9 < S
P=105 129 Base Gasket
A,B : Dimensions(R <) n=Station (i #)
lfem ——=ation) 2 3 4 5 6 7 8 9 10 11 12 13 14
B 30.5 41.0 51.0 62.0 72.5 83.0 93.5 104.0 | 1145 | 125.0 | 135.5 | 146.0 | 156.5
A 38.5 49.0 59.5 70.0 80.5 91.0 101.5 | 112.0 | 122.5 | 133.0 | 143.5 | 154.0 | 164.5
2.52 “TECITE




